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 gyMZm :gyMZm :gyMZm :gyMZm :      1.  gd© àíZ gmoS>{dUo Amdí`H$ Amho. 
2. COdrH$S>rb A§H$ Ë¶m àíZm§Mo JwU Xe©{dVmV. 
3. CÎman{ÌHo$V àýn{ÌHo$Vrb àýH«$_m§H$ {b{hUo Amdí`H$ Amho. 

 

à.1 `mo½` n`m©̀  {ZdSy>Z Jmiboë`m OmJm ^am. (10) 

 1) B©ñQ> B§{S>`m H§$nZrMr n{hbr dIma H$moR>o gwê$ Pmbr?   
 A) _w§~B© ~) H$bH$Îmm  
 H$>) gwaV S>) _Ðmg  
 2) H$m`_Ymam nÜXVr H$moUr gwê$ Ho$br?   
 A) bm°S>© ~|Q>rH$ ~) dm°aZ hopñQ>¨½O  
 H$>) bm°S>© H$m°Z©dm°{bg S>) bm°S>© S>bhm¡gr  
 3) 1857 À`m CR>mdmVrb ~oJ_ hOaV _hb hr H$moR>br amÁ`H$Vu hmoVr?   
 A) H$mZnya ~) A`moÜ`m  
 H$>) {X„r S>) Pm§er  
 4) ñWm{ZH$ ñdamÁ` g§ñWm§Mm H$m`Xm H$moUË`m ìhmB©gam°`Zo nmg Ho$bm?   
 A) bm°S>© [anZ ~) bm°S>© {bQ>Z  
 H$>) bm°S>© H$P©Z S>) bm°S>© q_Q>mo  
 5) ^maVr` amï´>g^oMo n{hbo AÜ`j H$moU hmoVo?   
 A) _. Jm§Yr ~) bmo. {Q>iH$  
 H$>) E.Amo.øw_ S>) ì`mo_oeM§Ð ~°ZOu  
 6) bmo.{Q>iH$m§À`m MVw…gyÌrVrb Mma gyÌo H$moUVr?   
 A) ñdamÁ`, ñdXoer, amï´>r` {ejU d AghH$ma ~) ñdamÁ`, ñdXoer, ~{hîH$ma d amï´>r` 

{ejU  
 

 H$>) ñdmV§Í`, ñdXoer, amï´>r` {ejU d AghH$ma S>) ñdmV§Í`, ñdXoer, ~{hîH$ma d amï´>r` 
{ejU    

 

 7) _. Jm§YtZr Zri _iodmë`m§{déÜXMm gË`mJ«h H$moR>o gwê$ Ho$bm?   
 A) IoS>m ~) Mm¡arMm¡am  
 H$>) Ah_Xm~mX S>) MånmaÊ`  
 8) àm§{VH$ ñdm¶ÎmVm H$moUË¶m H$m¶ÚmZo {Xbr Jobr?   
 A) 1858 Mm H$m¶Xm ~) 1909 Mm H$m¶Xm  
 H$>) 1919 Mm H$m¶Xm S>) 1935 Mm H$m¶Xm  
 9) ^JVqgJ ho Imbrbn¡H$s H$moUË¶m g§ñWoer {ZJS>rV hmoVo?   
 A) A{^Zd ^maV ~) JXa nmQ>u  
 H$>) qhXþñWmZ gmo{eA°{bñQ> [anpãbH$Z Agmo{gEeZ S>) ¶wJm§Va g{‘Vr  
 10) AmPmX qhX goZoMr ñWmnZm H$moUr Ho$br ?   
 A) amg{~hmar ~mog ~) gw^mfM§Ð ~mog  

D 



 

 AmYw{ZH$ ^maV - ^maVmMm ñdmV§Í¶bT>m ((((HCG – 101) -AE/ II 2/3 

 H$>) {d.Xm. gmdaH$a S>) goZmnVr ~mnQ>  
   

à.2 nwT>rb àíZm§Mr g{dñVa CÎmao {bhm. (H$moUVohr VrZ) (30) 

1) 1857À`m CR>mdmÀ`m An`emMr H$maUo {bhm. 
 

 

2) Ohmb_VdmXmÀ`m CX`mMr H$maUo gm§Jm.  

 3) gË`mJ«h hr g§H$ënZm ñnï> H$am.  

4) Mbo Omd MidirMr _m{hVr Úm.         

5) JXa njmMr _m{hVr Úm.   

 
à.3 nwT>rb àíZm§Mr WmoS>Š`mV CÎmao {bhm. (H$moUVohr XmoZ) (10) 

1) {~«{Q>em§À`m {damoYmV ^maVr`m§Zm An`e H$m Ambo ?      

2) 1858 À`m H$m`ÚmMr _m{hVr Úm.  

 3) gm`_Z H${_eZMr _m{hVr Úm.  

4) Zm{dH$ CR>mdmMr WmoS>Š`mV _m{hVr Úm.  
 

à.4 {Q>nm {bhm. (H$moUË`mhr XmoZ) (10) 

1) 1857À`m CR>mdmMo VËH$mbrZ H$maU  

2) Zm_Xma Jmonmi H¥$îU JmoIbo  

3) MånmaÊ` bT>m  

4) {MVJmd ímómJma YmS>  

 

Translation in English 

Sub: Modern India - India's stduggle for Freedom (HCG - 101) 

 Instructions:   
1) All Questions are Compulsory. 
2) Figures to the right indicate full marks. 
3) In the case of any doubt the Marathi version shall be held to be authentic and final. 
4) While writing answers the respective question numbers must be mentioned in the 

Answer Book. 
 

 

Q.1. Fill in the blanks with the correct option. (10) 
 1) At which place first factory (warehouse) of the British East India Company was 

opened? 
 

 a) Bombay (Mumbai) b) Kalkatta (Kolkata)  
 c) Surat  d) Madras (Chennai)  
 2) Who started 'Permanent Settlement' in India?  
 a) Lord Bentick b) Warren Hastings  
 c) Lord Cornwallis d)  Lord Dulhousie  

 
 

 

 3) Begam Hazerat Mehel was ruler of ----  
 a) Kanpur b) Awadh  
 c) Delhi d) Jhansi 
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 4) Who passed Local Self Government Act?  
 a) Lord Ripon b) Lord Litton  
 c) Lord Curzon d) Lord Minto  
 5) Who was the first president of the Indian National Congress?  
 a) Mahatma Gandhi b) Lok. Tilak  
 c) A.O.Hume d) Wyomeshchandra Banerji  
 6) Which were the four principles of Lok. Tilak's 'Four Fold Programme'?  
 a) Home Rule, Swadeshi, National 

Education and Non-cooperation 
b) Home Rule, Swadeshi, Boycott and 
National Edcuation 

 

 c) Freedom, Swadeshi, National 
Education and Non-cooperation 

d) Freedom, Swadeshi, Boycott and 
National Education 

 

 7) At which place Mahatma Gandhi initiated satyagraha against indigo cultivation?  
 a) Kheda b) Chourichoura  
 c) Ahemedabad  d) Champaranya  
 8) Provincial autonomy was granted by the Act of   
 a) 1858 b) 1909  
 c) 1919  d) 1935  
 9) Bhagat Singh was related to ----  
 a) Abhinav Bharat b) Gadar Party  
 c) Hindusthan Socialist Republican 

Association  
d) Yugantar Samiti  

 10) Who formed Indian National Army?  
 a) Rasbihari Ghosh b) Subhashchandra Bose  
 c) V.D. Savarkar d) Senapati Bapat  
   

Q.2. Answer the following questions in detail. (Any Three) (30) 
1) Write the causes of failure of Uprising of 1857. 
2) Give the causes of the rise of Extremism. 

 3)  Explain the concept of ‘Satyagrah’.  

4)  Give information of Quit India Movement. 
5)  Give information of the Gadar Party. 
 

Q.3. Answer the following questions in brief. (Any Two) (10) 
1) Why did the Indians fail against the British? 
2) Give information of Act of 1858. 

 3) Give information of Simon Commission.  

4) Give information of Naval Mutiny. 
 

Q.3. Write short notes. (Any Two) (10) 
1) Immediate cause of the Uprising of 1857 
2) Namdar Gopal Krishna Gokhale 
3)  Champaranya Movement 
4)  Chitgaon Raid 

 

____________________ 


